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6uesti0n 1

In the United States, the Industrial Revolution began in

A) New England

B) the South

C) the Mid-Atlantic region

D) the Ohio River valley



Quastion 2

Canals were responsible for all of the following except

A) helping to unite the growing country
B) lowering shipping costs
C) reducing sectional tensions

D) bringing prosperity to towns along their routes



6uesti0n 3

As part of the Missouri Compromise, entered the
union as a free state.

A) Maine
B) Missouri
C) Louisiana

D) Ohio



Question 4

Which is a reason, discussed in class, that sectionalism was so widespread in the early
United States.

A. Congress subdivided its chambers based upon geographic regions.

B. The states were older than the country itself, many people felt deeper loyalty to
their states than the country itself.

C. Both of the above

D. None of the above



Question 5

The Missouri Compromise settled the fear that...

One side, North or South, would get greater representation in congress.
Slavery would legal in all Western territories.

Both of the Above

None of the Above

OCoOw»



Question 6

Which country is most often credited with the start of the Industrial Revolution

A. France

B. England

C. The United States
D. China



Question /

The Factory System in the United States developed most prominently in this area of the
country...

A. The Northeast
B. The South

C. The West

D.

The Appalachians



Question 8

Disarmament under President Thomas Jefferson was mostly due to...

A. Jefferson’s belief in a small Federal Government
B. Jefferson’s belief in a large Federal Government.
C. The Federalists’ view on the military.

D. None of the Above



Question 9

One of the reasons canals were so important, and a priority for the United States was...

A. They gave the United States a unique military advantage over rivals
It reduced the need for slave labor in the South.

B.
C. Water travel was still the easiest, most efficient way to travel and ship goods.
D. None of the above



Question 10

True or False

Canals were eventually made obsolete with the building of

railroads.



Question 11

True or False

The cotton gin actually increased the demand for slavery.



Question 12

True or False

The National Road made travel through Rocky Mountains feasible for the first time.



Question 13

True or False

The Monroe Doctrine stated that the United States would stay out of any European
conflicts over territories in the Caribbean and South America.



Question 14

True or False

Tariffs are taxes on imported goods.



Question 15

True or False

The American System was a system of tariffs to promote American made goods.



Question 16

True or False

Despite the fact that the United States promoted the building of roads and canals, they
actually desired that people would stay in the East.



Question 17

Fill in the blank from a recent news article with the most appropriate chapter 10 vocab

term.

Caltech’s suit was filed in federal court in Los Angeles in 2016, and alleged that
hundreds of millions of Apple’s devices with Broadcom Wi-Fi chips infringed on
their . Broadcom supplies wireless chips for a variety of Apple products,
including the iPhone.

Tech Crunch- 1/30/20


https://crunchbase.com/organization/broadcom

Question 18

Fill in the blank from a recent news article with the most appropriate chapter 10 vocab

term.

The Regional Complete Count Committee said that every person not counted in the
is a potential loss of $1,535. Over the course of ten years that's $15,350 for

just one person. This funding impacts roads, schools and other programs.

"We have one shot," said Oregon High School Teacher Aaron Sitze. "It's once in a
decade and getting people to realize that there is a very real consequence if you don't

answer just nine questions.

WIFR- 1/30/20



Question 19

Fill in the blank from a recent news article with the most appropriate chapter 10 vocab
term.

Tolls rates recently have increased on the Pennsylvania
link New Jersey and New York City.

and the crossings that

Transport Topics: 1/7/20



Question 20

Fill in the blank from a recent news article with the most appropriate chapter 10 vocab

term.

ISTANBUL - Greece is pushing back against Turkish demands that it
16 Aegean islands. The Turkish government maintains it is defending Turkey's rights
and remains committed to negotiation, but analysts warn Turkey's increasingly "robust
diplomacy" threatens to isolate Ankara and escalate regional tensions.

VOA News: 1/27/20
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Question 18

Fill in the blank from a recent news article with the most appropriate chapter 10 vocab

term.

The Regional Complete Count Committee said that every person not counted in the
is a potential loss of $1,535. Over the course of ten years that's $15,350 for

just one person. This funding impacts roads, schools and other programs.

"We have one shot," said Oregon High School Teacher Aaron Sitze. "It's once in a
decade and getting people to realize that there is a very real consequence if you don't

answer just nine questions.

WIFR- 1/30/20
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Transport Topics: 1/7/20
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ISTANBUL - Greece is pushing back against Turkish demands that it
16 Aegean islands. The Turkish government maintains it is defending Turkey's rights
and remains committed to negotiation, but analysts warn Turkey's increasingly "robust
diplomacy" threatens to isolate Ankara and escalate regional tensions.

VOA News: 1/27/20
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